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QUESTION 1

If the propagation behavior is Propagation.REQUIRES_NEW, choose the statement which describes the propagation
behavior (select one)

A. Runs in a nested transaction if an active transaction exists. If an active transaction does not exist, the transaction
behaves as if Propagation.REQUIRED is set

B. Supports a transaction if one already exists. Throws an exception if an active transaction does not exist.
C. Always starts a new transaction. If an active transaction already exists, it is suspended

D. Always executes without a transaction even if an active transaction exists. Throws an exeception if an active
transaction exists.

Correct Answer: C

QUESTION 2

Identify which statement indicates potential advantages of using Spring\\'s Dependency Injection (select one)
A. Dependencies between application components can be managed external to the components themselves
B. Configuration can be externalized and centralized in a small set of files

C. Integration testing is made easier because different components used for testing can easily be injected

D. All of the above

Correct Answer: D

QUESTION 3

Which of these is NOT a characteristic of Spring JDBC? (Select one)

A. Can be configured exclusively using annotations

B. Provides a callback approach when greater developer control is needed

C. Connections are acquired and released from the DataSource automatically

D. Translation of root cause checked exceptions to Spring DataAccessExceptions

Correct Answer: A

QUESTION 4

Which of the following protocols is NOT supported by Spring Remoting? (select one)
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A. RMI
B. CORBA
C. Httpinvoker

Correct Answer: B

QUESTION 5

Which of the following is the correct mechanism for using programmatic transactions in Spring? (Select one)
A. Use of the @Transactional annotation on each method which should be transactional

B. Use of the @Transactional annotation on the Class of methods which should all be transactional

C. Configuration in an XML configuration file using the Spring "tx" namespace

D. Use of the Spring TransactionTemplate

Correct Answer: D

QUESTION 6

Select which statement is true with respect to constructor injection with Spring (select one)

A. Multiple parameters can be dependency injected into a constructor

B. Using XML configuration, the constructor-arg element may be omitted if the constructor requires a single parameter
C. One single bean cannot mix constructor injection with setter injection

D. All of the above

Correct Answer: A

QUESTION 7

Identify the correct statement about the following pointcut expression:
execution(@javax.annotation.security.RolesAllowed * rewards.restaurant.*.*(..)) (Select one)

A. The return type of the target method is RolesAllowed

B. All method parameters should be annotated with @RolesAllowed
C. The target method may have one argument

D. All of the above

Correct Answer: C
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QUESTION 8

Assuming a web application context name of "rewardsonline”, a servlet mapping of "/admin/*", and an incoming URL of
"Irewarsdonline/admin/accounts/show", what is the URL used for Spring MVC request-mapping purposes? (select one)

A. /rewardsonline/admin/accounts/show
B. /admin/acounts/show

C. /accounts/show

D. /show

Correct Answer: C

QUESTION 9

Identify the correct statement(s) regarding the following pointcut: execution (@com.springsource.MyCustomAnnotation
void *(..))

A. Spring does not support annotations inside its pointcut expression language

B. This will select join points representing void methods that are annotated by
@com.springsource.MyCustomAnnotation

C. This will select join points representing methods that may have a public, protected or default visibility
D. This pointcut will in no situation ever be able to select any join points

Correct Answer: B

QUESTION 10

Consider the following Spring JMS configuration

Which of the following statements is truE. (select one)
A. Spring will automatically receive messages from the order.queue.destination

B. The orderListener bean has to implement javax.jms.MessageListener or Spring\\'s SessionAwareMessageL.istener
interface

C. The application needs to run in an application server that provides a JMS implementation out of the box

D. Spring will automatically send a response message

CORESPRINGV3.2 PDF Dumps | CORESPRINGV3.2 Study Guide | CORESPRINGV3.2 Braindumps 4/6


https://www.passapply.com/corespringv3-2.html
https://www.passapply.com/corespringv3-2.html
https://www.passapply.com/corespringv3-2.html

VCE & PDF https://lwww.passapply.com/corespringv3-2.html
2024 Latest passapply CORESPRINGV3.2 PDF and VCE dumps Download

PassApply.com

Correct Answer: A

QUESTION 11

Which of the following statements is NOT true concerning the BeanPostProcessor Extension point? (Select one)
A. BeanPostProcessors are called during the init phase

B. BeanPostProcessors are called after the dependencies have been injected

C. BeanPostProcessors are called before the BeanFactoryPostProcessors have been called

D. Custom BeanPostProcessors can be implemented

Correct Answer: C

QUESTION 12

Which of the following statements is NOT true about advice types (select one)

A. The Before advice method is able to obtain information about the target method\\'s return type
B. The After advice method is able to obtain information about the target method\\'s return type
C. The Before advice method is able to obtain the target method\\'s return value

D. The After advice method is able to obtain the target method\\'s return value

Correct Answer: C

QUESTION 13

Identify the correct statement(s) about the following pointcut expression: execution(* rewards..restaurant.*.*(*)) (select
one or several answers)

A. There may be several directories between \\'rewards\\' and \\'restaurant\\'
B. There is no restriction on the class name

C. The target method may have several arguments

D. The return type must not be "void"

Correct Answer: AB

QUESTION 14

You want to externalize constants from your Spring XML configuration file into a .properties file to your Spring beans.
Which mechanism could you use? (select one)
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A. Use a PropertyEditor

B. Use a PropertyPlaceholderConfigurer
C. Use

D. Use a BeanPostProcessor

Correct Answer: B

QUESTION 15

Identify the correct statement about the following pointcut expression. Assume that these 2 classes do not
inherit from one another:

Execution (* rewards.service.MyClass.*(..)) andand execution(* rewards.service2.MyOtherClass.*(..))

(Select one)

A. Executions of all public method calls in MyClass and MyOtherClass will be selected by this pointcut

B. Public methods in MyClass and MyOtherClass which take zero arguments will not be selected by this pointcut

C. Public methods in MyClass and MyOtherClass which take more than one argument will not be selected by this
pointcut

D. This pointcut will never select any join points

Correct Answer: D
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